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20- U;wu ek¡x dks Bhd djus ds fy, fuEufyf[kr esa dkSu ls mik; gS \
(Which of the following causes the apperance of a Trade Cycle)
v½ voLQhfrd n'kk,a (Deflationary Condition)
c½ LQhfrd n'kk,a (Inflationary Condition)
l½ v vkSj c nksuksa (Both (a) & (b))
n½ buesa ls dksbZ ugha (None of them)

21- izR;{k ^dj* gS (Direct tax is)
v½ vk;dj (Annual tax) c½ migkj dj (Gift tax)
l½ ¼v½vkSj¼c½ nksuksa (Both a & b) n½ buesa ls dksbZ ugha

22- gLrkarj.k Hkqxrku D;k gS \ (What is transfer payment)
23- fLFkj fofue; nj D;k gS \ (What is fixed rate)
24- O;kikj larqyu D;k gS \ (What is balance of trade)
25- eqæk ds fdUgha rhu dk;ksZa dks crkosA (State any three function of money)
26- lkeqfgd ek¡x dk D;k vFkZ gS \ (What is aggregate demand)
27- dsfUæ; cSad ds izeq[k dk;ksZ dk mYys[k djsaA (State the main functions

of central bank)
28- O;fLV vFkZ'kkL= vkSj lefLV vFkZ'kkL= esa D;k varj gS \ (What is the

difference between Micro economics and Macro economics ?)
29- ,d oLrq dh cktkj ek¡x dks izHkkfor djus okys rRoksa dks crkb,A

(Explain the  factors that effect the market demand of a commodity)
30- oLrq fofu;e iz.kkyh dh D;k dfBukbZ;ka gS \ eqæk bu dfBukbZ;ksa dks

fdl izdkj nwj djrk gS \ (What  are difficulties of the barter system?
Explain how money has removed these difficulties.)

31- mRiknu Qyu D;k gS \ bldh fo'ks"krkvksa dks crkb,A (What do you
mean by production function ? Discuss the main characteristics)

32- tc fons'kh eqæk dk ewY; c<+rk gS] bldh ek¡x fxjrh gS \ Li"V djsaA
D;ksa \ (What price of a foreign currency falls, the supply of the foreign
currency also falls. Explain, why ?)

;k (or)
iw.kZ izfr;ksfxrk D;k gSa \ iw.kZ izfr;ksfxrk dh fo'ks"krk,a crkb,A (What
is perfect competition ? Explain characteristics of perfect competition)
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I- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsA (Candidate are

required to give their answers in their own words as far as practicable)

II- nksuksa [k.Mksa ds lHkh iz'u vfuok;Z gSA (All questions in both the
groups are compulsory)

III- iz'u la[;k 1 ls 5 vkSj 17 ls 21 cgqfodfYi; iz'u gS ftuesa izR;sd
1 vad dk gSA (Q. 1 to 5 and 17 to 21 are multiply choice type
carrying 1 marks each)

VI- iz'u la[;k 6 ls 10 vkSj 22 ls 26 y?kq mÙkjh; iz'uksÙkj gS ftuesa
izR;sd 3 vad dk gSA buesa ls izR;sd 60 'kCnksa ls vf/kd ugha gksuk
pkfg,A (Q. 6 to 10 and 22 to 26 are short answer type questions
carrying 3 marks each. Answer of these questions should not exceed
60 words each)

V- iz'u la[;k 11 ls 13 vkSj 27 ls 29 y?kq mÙkjh; iz'uksÙkj gS ftuesa
izR;sd 4 vad dk gSA buesa ls izR;sd 70 'kCnksa ls vf/kd ugha gksuk
pkfg,A (Q. 11 to 13 and 27 to 29 are short answer type questions
carrying 4 marks each. Answer of these questions should not exceed
70 words each)

VI- iz'u la[;k 14 ls 16 vkSj 30 ls 32 nh?kZ mÙkjh; iz'u gS ftuesa
izR;sd 6 vad dk gSA buesa ls izR;sd 100 'kCnksa ls vf/kd ugha gksuk
pkfg,A (Q. 14 to 16 and 30 to 32 are long answer type questions
carrying 6 marks each. Answer of these questions should not
exceed 100 words each)

VII- iz'u ds lHkh Hkkxks dk gy ,d gh LFkku ij gksuk pkfg,A
(Attempt all parts of questions at one place)
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10- ifjoÙkZu'khy ykxr ls D;k vk'k; gS \ nks mnkgj.k nhft,A (What
is meant by variable cast ? Give two example)

11- mnklhurk oØ fdls dgrs gSa \ mnklhurk oØ ck;sa ls nk;sa uhps D;ksa
fxjrk gqvk gksrk gS \ (What is indifference curve ? Why indifference
curve falls from left to right ?)

12- lhekUr mi;ksfxrk ,ao dqy mi;ksfxrk esa varj dhft,A (Distriguish
between Marginal Utility and Total Utility)

13- mRiknu Qyu ls vki D;k le>rs gSa \ vYidkyhu mRiknu Qyu dks
la{ksi esa le>kb,A (What do you understand by production
function ? Explain briefly shortterm production function ?)

14- lhekUr ykxr ,ao vkSlr ykxr D;k gS \ vkSlr ykxr U vk�fr  dk
D;ksa gksrk gS \ (What is Marginal cost and Average cost ? Why is
average cost curve U-shaped ?)

15- larqyu dher ls vki D;k le>rs gS \ ;g dSls fu/kkZfjr gksrk gS \
(What do you mean by equillibrium price ? How's it determined ?)

16- cktkj dh izeq[k fo'ks"krkvksa dks fy[ksa \ (Mention the basic features
of  market)

;k (Or)

lhekUr ykxr rFkk vkSlr vkxke ds chp laca/k crkb, \ js[kkfp= dk
iz;ksx djsa \(Explain the relationship between MR and AR. Use diagram)

[k.M&c (Group- B)

lgh mÙkj pqus (Choose the correct answer)
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17- fjtoZ cSad vkWQ bafM;k dh LFkkiuk gqbZ (Reserve Bank of India was
established in)
v½ 1947 c½ 1935 l½ 1937 n½ 1950

18- ctV dh vof/k D;k gksrh gS \ (What is the duration of a Budget ?)
v½ okf"kZd (Annual) c½ nks o"kZ (Two years)
l½ ik¡p o"kZ (Five years) n½ nl o"kZ (Ten years)

19- ^iwfrZ Loa;* ek¡x dk lt̀u djrh gS \ fuEufyf[kr esa fdlus izfrikfnr
fd;k \
v½ ts-ch- ls (J B Say) c½ ts-,l fey (J S Mill)
l½ dhUl (Keynes) n½ fjdkMksZ (Ricardo)

[k.M&v (Group- A)

lgh mÙkj pqus (Choose the correct answer)

1- ^vFkZ'kkL= peu dk rdZ'kkL= gS* fdlus dgk gS \ ('Economic is a
science of logic' who said it)
v½ ek'kZy (Marshall) c½ jkWfcUl (Robbins)

l½ ,Me fLeFk (Adam Smith) n½ ts-ds- esgrk (J.K. Mehta)

2- fuEufyf[kr esa ls dkSu mÙifr dk lk/ku ugha gS \
v½ Hkwfe (Land) c½ Je (Labour)

l½ eqæk (Money) n½ iwath (Capital)

3- ekax dk fu;e gSA (Law of  Demand is)

v½ xq.kkRed dFku (Qualitative Statement)

c½ ek=kRed dFku (Quantitative Statement)

l½ v ,ao c nksuksa (Both (a) and (b))

n½ buesa ls dksbZ ugha (None of these)

4- vkSlr ifjoÙkZu ykxr gS (Average variable costs can be defined as)

v½ TVC X Q c½ TVC + Q

l½ TVC - Q n½ TVC ÷ Q

5- oLrq dh iwfrZ fu/kkZjd ?kVd dkSu ls gS \ (Determinating factor of
supply of goods is )
v½ oLrq dh dher (Price of supply of goods is)

c½ lEcfU/kr oLrqvksa dh dher (Price of  related goods)

l½ mRiknu lk/kuksa dh dher (Price factor of production)

n½ mi;qDr lHkh (All the above)

6- fu;ksftr vFkZO;oLFkk D;k gS \ (What is Planned Economy ?)

7- miHkksDrk larqyu ds vFkZ dks le>kb, \ (Explain the meaninh of
Consumer's Equilibrium ?)

8- ^bPNk* vkSj ^ek¡x* esa vUrj djsA (Distinguish between 'Desire' and
'Demand' ?)

9- fuEufyf[kr oLrqvksa dh ek¡x dh yksp crkb,%& (Mention the elasticity
of demand for following goods)
v½ ued (Salt) c½ nw/k (Milk) l½ ghjk (Diamond)
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